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ID : 501161

1. Using the rules for significant figures, the correct answer for the expression 
0.02858 0.112

0.5702


 will be :

lkFkZd vadksa ds fy, fu;eksa dk mi;ksx djrs gq, fn, x, O;atd 
0.02858 0.112

0.5702


 ds fy, lgh mÙkj gksxk &

(1) 0.005613 (2) 0.00561 (3) 0.0056 (4) 0.006

Ans. Official Answer NTA (2)

Sol.
0.02858 0.112 0.003200

0.00561
0.5702 0.5702


 

ID : 501162

2. Which of the following is the correct plot for the probability density 2 (r) as a fuction of distance ‘r’ of

the electron from the nucleus for 2s orbital ?

fuEufyf[kr eas ls dkSu&lk vkys[k] 2s d{kd ds fy,] ukfHkd ls bysDVªkWu dh nwjh r ds Qyu ds :i esa izkf;drk ?kuRo

2 (r) dks lgh&lgh iznf”kZr djrk gS \

(1) 

r


2
(r)

(2) 

r


2
(r)

(3) 

r


2
(r)

(4) 

r

2(r)

Ans. Official Answer NTA (2)
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Sol. For 2s, number of radial nodes = 2  – 0 – 1 = 1 and value of 2 is always positive.

ID : 501163

3. Consider the species CH
4
, NH

4
+ and BH

4
–. Choose the correct option with respect to these species.

(1) They are isoelectronic and only two have tetrahedral structures.

(2) They are isoelectronic and all have tetrahedral structures.

(3) Only two are isoelectronic and all have tetrahedral structures.

(4) Only two are isoelectronic and only two have tetrahedral structures.

CH
4
, NH

4
+ ,oa BH

4
– Lih”kht ij fopkj djsaA bu Lih”kht ds lanHkZ esa lgh fodYi dks pqusaA

(1) os lebysDVªkWfud gSa ,oaa dsoy nks dh lajpuk,¡ prq’Qydh; gSaA

(2) os lebysDVªkWfud gSa ,oa lHkh dh lajpuk,¡ prq’Qydh; gSaA

(3) dsoy nks lebysDVªkWfud gSa ,oa lHkh dh lajpuk,¡ prq’Qydh; gSaA

(4) dsoy nks lebysDVªkWfud gSa ,oa dsoy nks dh lajpuk,¡ prq’Qydh; gSaA

Ans. Official Answer NTA (2)

Sol. CH
4
, NH+

4
 and BH

4
– are isoelectronic as well as tetrahedral.

ID : 501164

4. 4.0 moles of argon and 5.0 moles of PCl
5 
are introduced into an evacuated fask of 100 litre capacity at 610 K.

The system is allowed to equilibrate. At equilibrium, the total pressure of mixture was found to be 6.0 atm. The

K
p
 for the reaction is [Given : R = 0.082 L atm K–1 mol–1]

100 yhVj {kerk ds ,d fuokZfrr ¶ykLd esa 610 K ij vkWxZu ds 4.0 eksy ,oa PCl
5 
ds 5.0 eksy dks Hkj fn;k gSA fudk;

dks lkE;koLFkk ij vkus fn;k x;kA lkE;koLFkk ij] feJ.k dk dqy nkc 6.0 atm ik;k x;kA vfHkfØ;k ds fy, K
p
 dk

eku gS % [fn;k x;k gS : R = 0.082 L atm K–1 mol–1]

(1) 2.25 (2) 6.24 (3) 12.13 (4) 15.24

Ans. Official Answer NTA (1)

Sol. PCl
5
 (g)  PCl

3
(g)  + Cl

2
(g)

5 mole 0 0

(5 – x) x x

Total moles at equilibrium = (5 + x) + n
Ar

 = (5 + x) + 4 = (9 + x)

n
total

 =  
PV 6 100

RT 0.082 610





 = 11.995 = 12 moles

9 + x = 12 moles

x = 3 moles
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Pressure of (PCl
5
 + PCl

3
 + Cl

2
) = 

8
6 4atm

12
 

3 2

5

PCl PCl
P

PCl

3 3
4 4P P 3 3 98 8

K 2.25
2P 2 2 4

4
8

  
                  
       
 

ID : 501165

5. A 42.12% (w/v) solution of NaCl causes precipitation of a certain sol in 10 hours.

The coagulating value of NaCl for the sol is

[Given : Molar mass : Na = 23.0 g mol–1; Cl == 35.5 g mol–1]

NaCl dk 42.12% (w/v) foy;u ,d fn, x, lkWy dks 10 ?kaVs esa vo{ksfir djrk gSA

lkWy ds fy, NaCl dk Ldanu eku gS &

[fn;k x;k gS : Na dk eksyj nzO;eku = 23.0 g mol–1; Cl = dk eksyj nzO;eku 35.5 g mol–1]

(1) 36 mmol L–1 (2) 36 mol L–1 (3) 1440 mol L–1 (4) 1440 mmol L–1

Ans. Official Answer NTA (4)

Answer by Matrix is (Bonus)

Sol. Data insufficient

ID : 501166

6. Given below are two statements. One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The first ionization enthalpy for oxygen is lower than that of nitrogen.

Reason (R) : The four electrons in 2p orbitals of oxygen experience more electron–electron repulsion.

In the light of the above statements, choose the correct answer from the options given below.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

uhps nks dFku fn, x, gSaA ,d vfHkdFku A gS vkSj nwljk dkj.k RA
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vfHkdFku A : vkWDlhtu dh izFke vk;uu ,UFkSYih] ukbVªkstu dh rqyuk esa de gSA

dkj.k R : vkWDlhtu ds 2p d{kdksa esa mifLFkr pkjksa bysDVªkWu vf/kd bysDVªkWu&bysDVªkWu izfrd’kZ.k dk

vuqHko djrs gSaA

mi;qZDr dFkuksa ds vk/kkj ij uhps fn, x, fodYiksa esa ls lgh mÙkj pqusa &

(1) A rFkk R nksuksa lR; gSa vkSj R, A dh lgh O;k[;k gSA

(2) A rFkk R nksuksa lR; gSa vkSj R, A dh lgh O;k[;k ugha gSA

(3) A lR; gS] ijUrq R vlR; gSA

(4) A vlR; gS] ijUrq R lR; gSA

Ans. Official Answer NTA (1)

Sol. Ionisation energy = N > O.

In oxygen atom, 2 of the 4 2p electrons must occupy the same 2p orbital resulting in an increased electron

electron-repulsion.

ID : 501167

7. Match List–I with List–II

List –I Ore List –II Composition

A. Siderite I. FeCO3

B. Malachite II. CuCO ·Cu(OH)3 2

C. Sphalerite III. ZnS

D. Calamine IV. ZnCO3

Choose the correct answer from the options given below :

lwph –I dk feyku lwph –II ds lkFk djsa %

lwph –I ( )v;Ld lwph la?kVu –II ( )

A. flMsjkbV I. FeCO3

B. esykdkbV II. CuCO ·Cu(OH)3 2

C. LQsysjkbV III. ZnS

D. dSykekbu IV. ZnCO3

uhps fn, x, fodYiksa esa ls lgh mÙkj dks pqusa %
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(1) (A)-(I), (B)-(II), (C)-(III), (D)-(IV) (2) (A)-(III), (B)-(IV), (C)-(II), (D)-(I)

(3) (A)-(IV), (B)-(III), (C)-(I), (D)-(II) (4) (A)-(I), (B)-(II), (C)-(IV), (D)-(III)

Ans. Official Answer NTA (1)

Sol. Siderite  FeCO
3

Malachite  CuCO
3 
. Cu(OH)

2

Sphalerite  Zns

Calamine ZnCO
3

ID : 501168

8. Given below are two statements :

Statement I : In CuSO
4
·5H

2
O, Cu–O bonds are present.

Statement II : In CuSO
4
·5H

2
O, ligands coordinating with Cu(II) ion are O–and S–based ligands.

In the light of the above statements, choose the correct answer from the options given below.

(1) Both Statement I and Statement II are correct.

(2)  Both Statement I and Statement II are incorrect.

(3) Statement I is correct but Statement II is incorrect.

(4) Statement I is incorrect but Statement II is correct.

uhps nks dFku fn, x, gSa :

dFku I : CuSO
4
·5H

2
O esa Cu–O vkcU/k ik, tkrs gSaA

dFku II : CuSO
4
·5H

2
O esa] Cu(II)sa vk;u ds lkFk milgla;ksftr fyxUM] O– ,oa S– vk/kkfjr

fyxUM gSaA

mi;qZDr dFkuksa ds izdk”k esa uhps fn, x, fodYiksa esa ls lokZf/kd mi;qDr mÙkj dks pqusa %

(1) dFku I ,oa dFku II nksuksa lgh gSaA

(2) dFku I ,oa dFku II nksuksa xyr gSaA

(3) dFku I lgh gS ijUrq dFku II xyr gSA

(4) dFku I xyr gS ijUrq dFku II lgh gSA

Ans. Official Answer NTA (3)
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Sol.

ID : 501169

9. Amongst baking soda, caustic soda and washing soda, carbonate anion is present in :

(1) Washing soda only. (2) Washing soda and caustic soda only.

(3) Washing soda and baking soda only. (4) Baking soda, caustic soda and washing soda.

csfdax lksMk] dkWfLVd lksMk ,oa /kkou lksMk esa ls dkcksZusV _.kk;u mifLFkr gS&

(1) dsoy /kkou lksMk esa (2) dsoy /kkou lksMk ,oa dkWfLVd lksMk esa

(3) dsoy /kkou lksMk ,oa csfdax lksMk esa (4) csfdax lksMk] dkWfLVd lksMk ,oa /kkou lksMk esa

Ans. Official Answer NTA (1)

Sol. Compound Formula

(1) Baking soda NaHCO
3

(2) Washing soda Na
2
CO

3
.10H

2
O

(3) Caustic soda NaOH

ID : 501170

10. Number of lone pair(s) of electrons on central atom and the shape of BrF
3
 molecule respectively, are :

(1) 0, triangular planar. (2) 1, pyramidal. (3) 2, bent T–shape. (4) 1, bent T–shape.

BrF
3
 v.kq esa dsUnzh; ijek.kq ij mifLFkr ,dkdh ;qXe@;qXeksa dh la[;k ,oa v.kq dh lajpuk Øe”k gS&

(1) 0, f=dks.kh; leryh; (2) 1, fijSfeMh (3) 2, cafdr T–vk—fr (4) 1, cafdr T–vk—fr

Ans. Official Answer NTA (3)

Sol.
Br

F

F

F

Bent T-shape with Two unpaired electron

ID : 501171

11. Aqueous solution of which of the following boron compouds will be strongly basic i nature ?

cksjkWu ds fuEufyf[kr ;kSfxdksa esa ls fdldk tyh; foy;u izcyre {kkjh; iz—fr dk gksxk \

(1) NaBH
4

(2) LiBH
4

(3) B
2
H

6
(4) Na

2
B

4
O

7

Ans. Official Answer NTA (4)
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Sol. Na
2
B

4
O

7 
+ 7H

2
O  2H

3
BO

3
 + 2Na[B(OH)

4
]

Aqueous solution of borax is buffer whose pH ~ 9

Other compounds are less basic than this.

ID : 501172

12. Sulphur dioxide is one of the components of polluted air. SO
2
 is also a major contributor to acid rain. The

correct and complete reaction to represent acid rain caused by SO
2
 is :

lYQj MkbvkWDlkbM iznwf’kr gok dk ,d ?kVd gksrk gSA vEy o’kkZ esa Hkh SO
2
 eq[; ;ksxnku gksrk gSA SO

2
 ds dkj.k vEy

o’kkZ dks O;Dr djus dh lgh vkSj iw.kZ vfHkfØ;k gS %

(1) 2 SO
2
 + O

2
  2 SO

3
(2) SO

2
 + O

3
  SO

3
 + O

2

(3) SO
2
 + H

2
O

2
  H

2
SO

4
(4) 2 SO

2
 + O

2
+ 2 H

2
O  2H

2
SO

4

Ans. Official Answer NTA (4)

Sol. 2SO
2
 + O

2
 + 2H

2
O — 2H

2
SO

4 
(Acid rain)

ID : 501173

13. Which of the following carbocations is most stable ?

fuEufyf[kr esa ls dkSu&lk dkcZ&/kuk;u lokZf/kd LFkk;h gS \

(1) 


OCH3

(2) 



OCH3

(3) 


H CO3
(4) 



H CO3

Ans. Official Answer NTA (4)

Sol. Due to extend conjugation most stable carbocation is  
CH O3



ID : 501174

14. + CH CH CH Cl3 2 2

Anhydrous, AlCl3 ‘A’
Major Product

The stable carbocation formed in the above reaction is :

+ CH CH CH Cl3 2 2

futZyh;, AlCl3 ‘A’
eq[; mRikn

mi;qZDr vfHkfØ;k esa cuk LFkk;h e/;orhZ gS&
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(1) 
3 2 2CH CH C H



(2) 
3 2CH C H


(3)  
3 3CH – C H – CH


(4) 

2 3C HCH CH


Ans. Official Answer NTA (3)

Sol. 3 3CH – CH – CH


 is formed in the above reaction

ID : 501175

15. Two isomers (A) and (B) with Molar mass 184 g/mol and elemental composition C, 52.2%; H, 4.9% and Br

42.9% gave benzoic acid and p–bromobenzoic acid, respectively on oxidation with KMnO
4
. Isomer ‘A’ is

optically active and gives a pale yellow precipitate when warmed with alcoholic AgNO
3
. Isomer ‘A’ and ‘B’

are, respectively :

nks leko;o (A) ,oa (B) ftudk eksyj nzO;eku 184 g/mol rFkk rRoksa dk la?kVu 52.2% C, 4.9% H ,oa 42.9% Br

gS] KMnO
4
 ds lkFk vkWDlhdj.k djus ij Øe”k% csUtksbd vEy ,oa p–czksekscsUtksbd vEy nsrs gSaA leko;o ‘A’ izdkf'k;

lfØ; gSa rFkk ,sYdksgkWyh AgNO
3
 ds lkFk xeZ djus ij gYds ihys jax dk vo{ksi nsrk gSA leko;o ‘A’ ,oa ‘B’ Øe”k%

gSa %

(1) H C – CHBr – C H  and3 6 5

CH Br2

 CH3

(2) 

CH Br2

 CH3

and

CH CH2 3

Br

(3) 
H C – CHBr – C H  and3 6 5

CH CH2 3

Br
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(4) 
and   H C – CHBr – C H3 6 5

CH CH2 3

Br

Ans. Official Answer NTA (3)

Sol. moles relative ratio simplest ratio

C 52.2 = 52.2 / 12 = 4.35  8.11

H 4.9 = 4.9 / 1 = 4.9  9.14

Br 42.9 = 42.9 / 80 = 0.536  1

C
8
H

9
Br

A is optically active

CH  – CH – C H3 6 5

Br

B forms para bromo benzoic acid on reaction with KMnO
4
.

Br

COOH

KMnO4

Br

CH CH2 3

ID : 501176

16. In Friedel–Crafts alkylation of aniline, one gets :

(1) Alkylated product with ortho and para substitution

(2) Secondary amine after acidic treatement

(3) An amide product

(4) Positively charged nitrogen at benzene ring

,sfuyhu dk ÝhMsy&Øk¶V~l ,sfYdyhdj.k nsxk&

(1) vkWFkksZ ,oa iSjk izfrLFkkiu ds lkFk ,sfYdfyr mRikn

(2) vEyh; mipkj ds mijkUr f}rh;d ,sehu
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(3) ,d ,sekbM mRikn

(4) csUthu oy; ij /kukosf”kr ukbVªkstu

Ans. Official Answer NTA (4)

Sol.

NH2 NH2 – AIX3

2° amine



AIX3+ R – X

ID : 501177

17. Given below are two statements : one is labelled as Assertion (A) and the other is labelled as Reason

(R).

Assertion (A) : Dacron is an example of polyester polymer.

Reason (R) : Dacron is made up of ethylene glycol and terephthalic acid monomers.

In the light of the above statements, choose the correct answer from the options given below.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

uhps nks dFku fn, x, gSaA ,d vfHkdFku A gS vkSj nwljk dkj.k RA

vfHkdFku A : MsØkWu ,d ikWfy,LVj cgqyd dk mnkgj.k gSA

dkj.k R : MsØkWu ,fFkyhu XykbdkWy vkSj Vsjs¶FkSfyd vEy ,dydksa ls fufeZr gksrk gSA

mi;qZDr dFkuksa ds vk/kkj ij uhps fn, x, fodYiksa esa ls lgh mÙkj pqusa &

(1) A rFkk R nksuksa lR; gSa vkSj R, A dh lgh O;k[;k gSA

(2) A rFkk R nksuksa lR; gSa vkSj R, A dh lgh O;k[;k ugha gSA

(3) A lR; gS] ijUrq R vlR; gSA

(4) A vlR; gS] ijUrq R lR; gSA

Ans. Official Answer NTA (1)
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Sol.

 

ID : 501178

18. The structure of protein that is unaffected by heating is

(1) Secondary structure (2)  Tertiary structure

(3) Primary structure (4) Quaternary structure

izksVhu dh og lajpuk tks rkieku ls vizHkkfor jgrh gS] gS %

(1) f}rh;d lajpuk (2)  r`rh;d lajpuk (3) izkFkfed lajpuk (4) prq’d lajpuk

Ans. Official Answer NTA (3)

Sol. Primary structure is unaffected by heating

ID : 501179

19. The mixture of chloroxylenol and terpineol is an example of

(1) Antiseptic (2) Pesticide (3) Disinfectant (4) Narcotic analgesic

DyksjkstkbfyukWy ,oa VihZfuvkWy dk feJ.k ftldk mnkgj.k gS] og gS

(1) iwfrjks/kh (2) ihM+duk”kh (3) folaØkeh (4) Lokid ihM+kgkjh

Ans. Official Answer NTA (1)

Sol. Commonly used antiseptic Dettol is a mixture of chloroxylenol and terpineol

ID : 501180

20. A white precipitate was formed when BaCl
2
 was added to water extract of an inorganic salt. Further, a gas ‘X’

with characteristic odour was released when the formed white precipitate was dissolved in dilute HCl. The

anion present in the inorganic salt is :

fdlh vdkcZfud yo.k ds tyh; fu’d’kZ.k esa BaCl
2 
feykus ij ,d lQsn vo{ksi izkIr gksrk gSA bl izdkj cus lQsn vo{ksi

dks ruq HCl esa ?kksyus ij ,d fof”k’V xa/k dh xSl ‘X’ fudyrh gSA vdkcZfud yo.k esa mifLFkr _.kk;u gS&

(1) I– (2) SO
3

2– (3) S2– (4) NO
2

–

Ans. Official Answer NTA (2)
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Sol.
dil HCl2

2 3 3 2
white burning sulphur like smell

BaCl SO BaSO SO    

ID : 501181

21. A box contains 0.90 g of liquid water in equilibrium with water vapour at 27°C. The equilibrium vapour

pressure of water at 27°C is 32.0 Torr. When the volume fo the box is increased, some of the liquid

water evaportes to maintain the equilibrium pressure. If all the liquid water evaporates, then the volume

of the box must be __________ litre. [Nearest integer]

(Given : R = 0.082 L atm K–1 mol–1)

(Ignore the volume of the liquid water and assume water vapours behave as an ideal gas.)

,d ckWDl esa 27°C ij 0.90 g nzo ty] ty ok’i ds lkFk lkE;koLFkk esa gSA 27°C ij ty dk lkE; ok’i nkc 32.0

Torr gSA tc ckWDl dk vk;ru c<+k;k tkrk gS] rks lkE; nkc dks cuk, j[kus ds fy, dqN nzo ty okf’ir gks tkrk gSA

;fn iwjk nzo ty okf’ir gks tk,] rks ckWDl dk vk;ru __________ yhVj gksxkA [fudVre iw.kkZad esa]

(fn;k x;k gS : R = 0.082 L atm K–1 mol–1)

(nzo ty ds vk;ru dks ux.; ekusa vkSj ty ok’i ds O;ogkj dks ,d vkn”kZ xSl tSlk eku yhft,A)

Ans. Official Answer NTA (29)

Sol. H
2
O          H

2
O (g)

t = t
eq

0.90
x

18
 x

PV = nRT

 
32

V .082 x 300
760

   

0.90
x

18


0.90 300 760
V .082

18 32


  

 29.21 L

 29

ID : 501182

22. 2.2 g of nitrous oxide (N
2
O) gas is cooled at a constant pressure of 1 atm from 310 K to 270 K causing the

compression gas from 217.1 mL to 167.75 mL. The change in internal energy of the process, U is ‘–x’ J. The

value of ‘x’ is __________. [Nearest integer]
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(Given : atomic mass of N = 14 g mol–1 and of O = 16 g mol–1. Molar heat capacity of N
2
O is 100 JK–1 mol–1)

ukbVªl vkWDlkbM (N
2
O) xSl ds 2.2g dks 1 atm ds fLFkj nkc ij 310 K ls 270 K rd BaMk fd;k x;k ftleas xSl dk

217.1 mL ls 167.75 mL esa laihMu gksrk gSA mDr izØe esa vkarfjd ÅtkZ esa ifjorZu] U, ‘–x’ J gSA ‘x’ dk eku

__________gSA [fudVre iw.kkZad esa]

(fn;k x;k gS& ijek.kq nzO;eku % N = 14 g mol–1 rFkk O = 16 g mol–1A N
2
O dh eksyj Å’ek&/kkfjrk 100 JK–1 mol–1

gSA)

Ans. Official Answer NTA (195)

Sol. Mass of nitrous oxide (N
2
O) = 2.2 gram

Pressure constant = (1 atm)

T
1
 = 310 K V

1
 = 217.1 ml

T
2
 = 270 K V

2
 = 167.75 ml

Molar heat capacity of N
2
O = 

J
100

K mole

q = nC
m
T

No. of mole = 
2.2

44
 = 0.05

q = –0.05 × 100 × 40

J
200

K mole
 



W = –PV

= 1 × [167.75 – 217.1] × 10–3

= 49.35 × 10–3 atm × litre

= 49.35 × 10–3 × 101.325 J = 5J

U = q + w

= –200 + 5

= –195 J

ID : 501183

23. Elevation in boiling point for 1.5 molal solution of glucose in water is 4 K. The depression in freezing

point for 4.5 molal solution of glucose in water is 4 K. The ratio of molal elevation constant to molal depression

constant (K
b
/K

f
) is __________.

ty esa Xywdksl ds 1.5 eksyy foy;u dk DoFkukad mUu;u 4 K gSA ty esa Xywdksl ds 4.5 eksyy foy;u dk fgekad

voueu 4 K gSA eksyy mUu;u fLFkjkad ,oa eksyy voueu fLFkjkad dk vuqikr (K
b
/K

f
) __________ gSA

Ans. Official Answer NTA (3)
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Sol. T
b
 =  iK

b
m


f
 = iK

f
m

b

f

K 1.54

4 K 4.5


b

f

K
3

K


ID : 501184

24. The cell potential for the given cell at 298 K

     2
2Pt H g,1bar H aq || Cu (aq) | Cu s 

is 0.31V. The pH of the acidic solution is found to be 3, whereas the concentration of Cu2+ is 10–x M. The value
of x is __________.

(Given : 2Cu /Cu
E 0.34V

   and 
2.303 RT

0.06V
F

 )

298 K ij fn, x, lsy

     2
2Pt H g,1bar H aq || Cu (aq) | Cu s 

ds fy, lsy foHko 0.3V gSA vEyh; foy;u dk pH 3 ik;k x;k gS] tcfd Cu2+ dh lkUnzrk 10–x M gSA x dk eku

__________ gSA

(fn;k x;k gS : 2Cu /Cu
E 0.34V

   rFkk 
2.303 RT

0.06V
F

 )

Ans. Official Answer NTA (7)

Sol.

2
6

22
2

H 10
Q pH 1

CCu pH

 



 
   

 
 

cell
0.06

E E log Q
n

  

60.06 10
0.31 0.34 log

2 C



 

610
log 1

C





C = 10–7 M

x = 7

ID : 501185

25. The equation
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k = (6.5 × 1012s–1)e–26000K/T

is followed for the decomposition of compound A. The activation energy for the reaction is __________ kJ

mol–1. [nearest integer]

(Given : R = 8.314 JK–1 mol–1)

lehdj.k

k = (6.5 × 1012s–1)e–26000K/T

dks ;kSfxd A ds vi?kVu dk vuqlj.k djus ds fy, iz;ksx fd;k tkrk gSA vfHkfØ;k dh lfØ;.k ÅtkZ __________

kJ mol–1 gSA [fudVre iw.kkZad esa]

(fn;k x;k gS : R = 8.314 JK–1 mol–1)

Ans. Official Answer NTA (216)

Sol.
aE

/T
RK Ae

 
 
 

K = 6.5 × 10–12 e–26000K/T

aE

R
 = 26000 = 26 × 103

Ea = 26 × 103 × 8.314 = 216.164 × 103 J = 216.164 KJ

ID : 501186

26. Spin only magnetic moment of [MnBr
6
]4– is __________ B.M. (Round off to the closest integer)

[MnBr
6
]4– ds fy, dsoy fLiu pqEcdh; vk?kw.kZ __________ B.M. gSA (fudVre iw.kkZad esa)

Ans. Official Answer NTA (6)

Sol. 111 11
2

2g g
Mn t e 

s 35 

= 5.91 = 9

ID : 501187

27. For the reaction given below :

CoCl
3
 · x NH

3
 + AgNO

3
 (aq) 

If  two equivalents of AgCl precipitate out, then the value of x will be __________.

fuEufyf[kr vfHkfØ;k ds fy, %

CoCl
3
 · x NH

3
 + AgNO

3
 (aq) 

;fn AgCl ds nks rqY;kad vo{ksfir gksrs gSa] rks x dk eku __________ gksxkA



Question Paper With Text Solution (Chemistry)
JEE Main June 2022 | 29 June Shift-2

Page No. 17

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ;  Email : smd@matrixacademy.co.in

Ans. Official Answer NTA (5)

Sol.   3AgNO
3 25

CoCl NH Cl 2AgCl    

x = 5

ID : 501188

28. The number of chiral alcohol(s) with molecular formula C
4
H

10
O is __________.

v.kq lw= C
4
H

10
O okys dkbjy ,sYdksgkWy (;k ,sYdksgkWyksa) dh la[;k __________ gSA

Ans. Official Answer NTA (1)

Answer by Matrix (2)

Sol.

C H O4 10

OH+

OH

Optically
active R + S

+

OH

+

OH

        Only 2-Butanol is chiral with R or S configuration

ID : 501189

29. In the given reaction,

K Cr O2 2 7

(II) C H MgBr6 5

(I) 

H O2

(IV) H , heat
+

(III) 
‘X’

Major Product
HO

the number of sp2 hybridised carbon(s) in compound ‘X’ is __________.

fuEufyf[kr vfHkfØ;k eas

K Cr O2 2 7

(II) C H MgBr6 5

(I) 

H O2

(IV) H , heat
+

(III) 
‘X’

Major Product
HO

;kSfxd ‘X’ esa sp2 ladfjr dkcZu ijek.kqvksa dh la[;k __________ gSA

Ans. Official Answer NTA (8)
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Sol.

 C H6 5

C H6 5

C H6 5MgBrK Cr O2 2 7HO
H O2

H  Heat+

HO
O

ID : 501190

30. In the given reaction,

–OH

(II) Heat

(I) 
‘P’

Major Product

O

The number of  electrons present in the product ‘P’ is __________.

fuEufyf[kr vfHkfØ;k esa

–OH

(II) xeZ djus ij

(I) 
‘P’

eq[; mRikn

O

mRikn ‘P’ esa mifLFkr  bysDVªkWuksa dh la[;k __________ gSA

Ans. Official Answer NTA (4)

Sol.

O

O


OH

Total 4 electrons are there. Reaction is aldol condensation.


